

0, 9, 18, ...

$$\left. \begin{array}{l} d=9 \\ a_1=0 \end{array} \right\} \begin{array}{l} t_n = a_1 + (n-1)d \Rightarrow t_n = 9n-9 \\ t_{10} = 9 \times 10 - 9 = 81 \end{array}$$

$t_n = 4, 10, 16, 22, \dots \Rightarrow \left. \begin{array}{l} d=6 \\ a_1=4 \end{array} \right\} \begin{array}{l} t_n = 6n-2 \\ t_{10} = 58 \end{array}$

$S_n = \frac{n}{2}(a_1 + t_n) = S_{10} = \frac{10}{2}(81 + 4) = 5 \times 85 = 425$

$t_{29}, t_{30}, t_{31}, t_{32}$

$t_{29} = 9 \times 29 - 9 = 261$

$t_{32} = 9 \times 32 - 9 = 288$

$S = \frac{4}{2}(261 + 288) = 2(549) = 1098$

$d = 3 - \sqrt{3} - 2 = 1 - \sqrt{3}$

$$\left. \begin{array}{l} t_{12} = a_1 + (n-1)d = 1 + \sqrt{3} + (12-1)(1 - \sqrt{3}) = 12 - 10\sqrt{3} \\ t_{16} = 1 + \sqrt{3} + (16-1)(1 - \sqrt{3}) = 16 - 14\sqrt{3} \end{array} \right\} t_{16} - t_{12} = 4 - 4\sqrt{3}$$

واحدی ص.ب

$2 \times 2 + 6^{2a_1} = 6^{2a_1} + 6^y \Rightarrow 6^y = 6^{2a_1} (4-1) \Rightarrow 6^y = 6^{2a_1+1}$

$2a_1 + 1 = y$

واحدی ص.ب

$x+y = 2(2) \Rightarrow x+y = 4 \Rightarrow 2a_1+1+y = 4 \Rightarrow 2a_1+y = 3 \Rightarrow \left. \begin{array}{l} x=1 \\ y=3 \end{array} \right\}$

واحدی ص.ب

$2(2a_1-1) = 2a_1 + 4 - 2 \Rightarrow 2a_1 - 2 = 2a_1 - 2 \Rightarrow 2a_1 = 2 \Rightarrow a_1 = 1$

-3, 0, 3, ...

$$\left. \begin{array}{l} d=3 \\ a_1=-3 \end{array} \right\} \begin{array}{l} t_n = -3 + (n-1) \times 3 = 3n-6 \\ t_8 = 3 \times 8 - 6 = 18 \end{array}$$

$$\left. \begin{aligned} a_n &= 2n+1 \Rightarrow a_{r_0} = 21 \\ b_n &= 3n-1 \Rightarrow b_{r_1} = 59 \\ \underbrace{d}_{\text{Cris}} = 4 &\rightarrow \underbrace{c_n}_{\text{Cris}} = 4n-1 \\ \underbrace{a_1}_{\text{Cris}} &= 10 \end{aligned} \right\} \begin{aligned} a_n - 1 &\in \mathbb{E}_1 \\ 4n &\in \mathbb{E}_2 \\ n &\leq v \Rightarrow n = v \end{aligned} \quad (4)$$

$$a_1 + a_1 + d + a_1 + rd = 3a_1 + rd = 21 \Rightarrow a_1 + rd = 7 \quad (v)$$

$$a_1 + a_1 + rd + a_1 + rd = 3a_1 + 4d = 105 \Rightarrow a_1 + rd = 35$$

$$\begin{cases} a_1 + rd = 35 \\ a_1 - d = -7 \end{cases} \Rightarrow a_1 = -21 \Rightarrow a_1 + rd - a_1 - d + a_1 = a_1 + d = 7 \Rightarrow \frac{a_1 - a_1 + d}{a_1} = \frac{1}{-21} \quad (1)$$

$$a_1 + a_1 + a_1 = 3a_1 + rd = 10 \Rightarrow a_1 + rd = 10 \quad (1)$$

$$a_2 + 0 = a_1 + rd + a_1 + rd = 26 \Rightarrow 2a_1 + 2d = 26 \Rightarrow a_1 + rd + d = 13$$

$$2(\underbrace{a_1 + rd}_d) + d = 26 \Rightarrow 3d = 26 \Rightarrow d = \frac{26}{3}, a_1 = 7 \Rightarrow a_{10} = 7 + 9 \cdot \frac{26}{3} = 79 \quad (1)$$

$$\cancel{a_1} + a_1 = 2a_1 = 2(a_1 + ar) \Rightarrow (a_1 + a_1) = 2(a_1 + ar) \quad (4)$$

$$a_1 + rd + a_1 = 2(a_1 + a_1 + rd) \Rightarrow 2a_1 + rd = 2a_1 + 4d \Rightarrow rd = 2d$$

$$d = 2a_1 \Rightarrow \frac{a_{r_1}}{a_v} = \frac{a_1 + rd}{a_1 + 4d} = \frac{a_1 + 2a_1}{a_1 + 8a_1} = \frac{3a_1}{9a_1} = \frac{1}{3}$$

$$a_1 = 11, a_1 + 4d = 59 \Rightarrow 4d = 48 \Rightarrow d = 12 \Rightarrow r_2 = a_1 + rd = 11 + 12 = 23 \quad (1)$$

$$31 + rd = 23 \Rightarrow rd = -8 \Rightarrow d = -8 \Rightarrow d = \frac{b-a}{k+1} \Rightarrow -8 = \frac{14-31}{k+1}$$

$$-8 = \frac{-17}{k+1} \Rightarrow 6k + 8 = -17 \Rightarrow k = -\frac{25}{6}$$